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EXAMPLE 1 Show that the volume of a sphere of radius ris V = 377>,
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(a) Using 5 disks, V= 4.2726 (b) Using 10 disks, V = 4.2097 (c) Using 20 disks, V = 4.1940
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E PLE 2 Find the volume of the solid obtained by rotating about the x-axis the

'Lregion under the curve y = +/x from 0 to l Jlllustrate the definition of volume by
sketching a typical approximating cylinder:
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EXAMPLE 3 Find the volume of the solid obtained by rotating the region bounded by

y = x°,y = 8, and x = 0 about the y-axis.
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EXAMPLE 4 The region R enclosed by the curve@nd iy = x* &is rotated about

the x-axis. Find the volume of the resulting solid.
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EXAMPLE 5 Find the volume of the solid obtained by rotating the region in Example 4

about the line] y = 2. ]
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EXAMPLE 7 Figure 12 shows a solid with a circular base of radius 1. Parallel cross-
sections perpendicular to the base are equilateral triangles. Find the volume of the solid.

A N AN
AN N
- AN
s/ M\
ne = AR
L_J \,'L""?'\VJV\J

(|
N ———— 7 b ‘__Dh

FIGURE 12 of 4 2
PR | 1 r) Pa— 3\ L 2

Woelbysb kst 2

LZ) Y t




$
ARE & = bl ("\”TE)

2

= lv/_éi b

Z K 2 /)

= B %
'L‘\
T\ ARE & oF .
\ EoscsTéed L - 33

N\

N of BisE

b




